Db-killer N°32
c0d.307677801

Allen screw M5

S.s bracket
C0d.307659502

d.201044
=2 Rubber plug
Rubber plug c0d.200267 /
c0d.204790

Aluminium spacer
Cod. 204844

Carbon clamp silencer FM5
Cod.307659501

ONLY FOR VERSIONS WITH CENTRAL STAND

2X screw
M10X40x1.25
co0d.204519

/ PASSENGER'S R.H. FOOTBOARD

Plain washer @ 8x24

SGl[e13] 0457 (9
KKnurled collar nut M8
' ) @} —@}-\c:od.zooz%
Ny ; Knurled collar nut M5 [Cod.200321
i Cod.204407
Allen screw M8X55] @@((/ &
c0d.200331 T, &
Aluminium spacer
Cod. 204845

Allen srew M5
Co0d.201031 <

LV ONE EVO silencer
@i 54 X L 300
Co0d.308297481

ART.8297E

YAMAHA FZ1 1000 i.e. ('06/'11)
YAMAHA FZ1 FAZER 1000 i.e. ('06/'11)
YAMAHA FZ1 FAZER GT 1000 i.e. ('08/'10)

Pipe S.s N°444
Co0d.307659202

Strap-in Stainless S. @ 63

Co0d.300063530

Short helical spring
tensile
Cod.303949001

LV ONE EVO - SLIP ON - STAINLESS STEEL - APPROVED



	DT-8297

